		Summary of Bids Receiv	ved			
Sec Descrip CPMS	 bject: Grass Lake Road Resurfacing ction: 15-00075-13-RS btion: IL. Route 83 to Deep Lake Road S Pin: B-01408A Date: 4/18/2017 					
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng Estimate
Peter Baker & Son Company Payne & Dolan, Inc.	1349 Rockland Road 28435 W. Route 173	Lake Bluff, IL 60044 Antioch, IL 60002	Bid Bond Bid Bond	\$1,011,681.70 \$1,042,107.00	-32.74% -30.72%	. ,
Engineer's Estimate				\$1,504,194.20		
Design	IDOT(2)	Contract Bidder	Р	JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	tant	
Construction	Project File	Request By Mail	N	Agr Capital Program	nming	

Bid Tabulation

 Project:
 Grass Lake Road Resurfacing

 Section:
 15-00075-13-RS

 Description:
 IL. Route 83 to Deep Lake Road

 CPMS Pin:
 B-01408A

 Let Date:
 4/18/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	50.00	UNITS	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00
2	20200100	EARTH EXCAVATION	2,214.00	CU YD	\$25.00	\$55,350.00	\$33.50	\$74,169.00	\$27.00	\$59,778.00
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4,166.00	SQ YD	\$3.00	\$12,498.00	\$1.25	\$5,207.50	\$1.30	\$5,415.80
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	3,088.00	SQ YD	\$4.00	\$12,352.00	\$4.00	\$12,352.00	\$4.00	\$12,352.00
5	25000210	SEEDING, CLASS 2A	0.63	ACRE	\$4,000.00	\$2,520.00	\$242.00	\$152.46	\$2,500.00	\$1,575.00
6	25000400	NITROGEN FERTILIZER NUTRIENT	57.00	POUND	\$3.00	\$171.00	\$1.00	\$57.00	\$1.05	\$59.85
7	25000600	POTASSIUM FERTILIZER NUTRIENT	57.00	POUND	\$3.00	\$171.00	\$1.00	\$57.00	\$1.05	\$59.85
8	25100105	MULCH, METHOD 1	1.26	ACRE	\$2,000.00	\$2,520.00	\$1,210.00	\$1,524.60	\$1,650.00	\$2,079.00
9	28000305	TEMPORARY DITCH CHECKS	39.00	EACH	\$150.00	\$5,850.00	\$110.00	\$4,290.00	\$10.50	\$409.50
10	28000400	PERIMETER EROSION BARRIER	946.00	FOOT	\$5.00	\$4,730.00	\$2.50	\$2,365.00	\$3.00	\$2,838.00
11	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	3,714.00	SQ YD	\$17.00	\$63,138.00	\$20.60	\$76,508.40	\$18.95	\$70,380.30
12	35101400	AGGREGATE BASE COURSE, TYPE B	43.00	TON	\$30.00	\$1,290.00	\$55.00	\$2,365.00	\$50.00	\$2,150.00
13	40600290	BITUMINOUS MATERIALS (TACK COAT)	20,126.00	LB	\$0.01	\$201.26	\$0.01	\$201.26	\$0.01	\$201.26
14	40600535	LEVELING BINDER (HAND METHOD), N70	20.00	TON	\$500.00	\$10,000.00	\$66.00	\$1,320.00	\$785.00	\$15,700.00
15	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	1,007.00	TON	\$100.00	\$100,700.00	\$72.25	\$72,755.75	\$71.00	\$71,497.00
16	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,064.00	TON	\$80.00	\$165,120.00	\$58.70	\$121,156.80	\$61.00	\$125,904.00
17	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	3,032.00	TON	\$80.00	\$242,560.00	\$63.30	\$191,925.60	\$62.00	\$187,984.00
18	42001300	PROTECTIVE COAT	192.00	SQ YD	\$5.00	\$960.00	\$3.00	\$576.00	\$3.00	\$576.00

Bid Tabulation

Project: Grass Lake Road Resurfacing

Section: 15-00075-13-RS

Description: IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
item No.	Fay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
19	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5	1,094.00	SQ FT	\$12.00	\$13,128.00	\$12.25	\$13,401.50	\$11.25	\$12,307.50
20	42400800	DETECTABLE WARNINGS	120.00	SQ FT	\$50.00	\$6,000.00	\$30.00	\$3,600.00	\$30.00	\$3,600.00
21	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	25,397.00	SQ YD	\$3.50	\$88,889.50	\$1.70	\$43,174.90	\$1.75	\$44,444.75
22	44000200	DRIVEWAY PAVEMENT REMOVAL	1,315.00	SQ YD	\$5.00	\$6,575.00	\$3.90	\$5,128.50	\$10.50	\$13,807.50
23	44000500	COMBINATION CURB AND GUTTER REMOVAL	256.00	FOOT	\$10.00	\$2,560.00	\$10.00	\$2,560.00	\$19.50	\$4,992.00
24	44000600	SIDEWALK REMOVAL	341.00	SQ FT	\$10.00	\$3,410.00	\$3.70	\$1,261.70	\$2.00	\$682.00
25	44201713	CLASS D PATCHES, TYPE I, 6 INCH	134.00	SQ YD	\$60.00	\$8,040.00	\$20.00	\$2,680.00	\$18.00	\$2,412.00
26	44201717	CLASS D PATCHES, TYPE II, 6 INCH	201.00	SQ YD	\$60.00	\$12,060.00	\$20.00	\$4,020.00	\$18.00	\$3,618.00
27	44201721	CLASS D PATCHES, TYPE III, 6 INCH	604.00	SQ YD	\$60.00	\$36,240.00	\$20.00	\$12,080.00	\$18.00	\$10,872.00
28	44201723	CLASS D PATCHES, TYPE IV, 6 INCH	403.00	SQ YD	\$60.00	\$24,180.00	\$20.00	\$8,060.00	\$18.00	\$7,254.00
29	44213200	SAW CUTS	3,206.00	FOOT	\$2.00	\$6,412.00	\$2.60	\$8,335.60	\$1.28	\$4,103.68
30	48101200	AGGREGATE SHOULDERS, TYPE B	415.00	TON	\$10.00	\$4,150.00	\$41.00	\$17,015.00	\$34.00	\$14,110.00
31	50105220	PIPE CULVERT REMOVAL	280.00	FOOT	\$10.00	\$2,800.00	\$13.10	\$3,668.00	\$15.50	\$4,340.00
32	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.00	EACH	\$1,000.00	\$2,000.00	\$945.00	\$1,890.00	\$1,485.00	\$2,970.00
33	54215547	METAL END SECTIONS 12"	4.00	EACH	\$250.00	\$1,000.00	\$350.00	\$1,400.00	\$365.00	\$1,460.00
34	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	202.00	FOOT	\$50.00	\$10,100.00	\$50.50	\$10,201.00	\$45.25	\$9,140.50
35	542C0217	PIPE CULVERTS, CLASS C, TYPE 1 12"	45.00	FOOT	\$50.00	\$2,250.00	\$57.00	\$2,565.00	\$64.50	\$2,902.50
36	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	2,864.00	FOOT	\$10.00	\$28,640.00	\$2.90	\$8,305.60	\$4.20	\$12,028.80
37	60100905	PIPE DRAINS 4"	100.00	FOOT	\$5.00	\$500.00	\$32.20	\$3,220.00	\$55.00	\$5,500.00

Bid Tabulation

Project:Grass Lake Road ResurfacingSection:15-00075-13-RS

Description: IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
38	60100915	PIPE DRAINS 6"	100.00	FOOT	\$5.00	\$500.00	\$34.40	\$3,440.00	\$59.00	\$5,900.00
39	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24(ABUTTING EXISTING PAVEMENT)	256.00	FOOT	\$50.00	\$12,800.00	\$46.50	\$11,904.00	\$42.25	\$10,816.00
40	66900205	SPECIAL WASTE DISPOSAL	100.00	CU YD	\$100.00	\$10,000.00	\$76.50	\$7,650.00	\$57.00	\$5,700.00
41	66900450	SPECIAL WASTE PLANS AND REPORT	1.00	L SUM	\$1,000.00	\$1,000.00	\$2,530.00	\$2,530.00	\$2,200.00	\$2,200.00
42	66900530	SOIL DISPOSAL ANALYSIS	4.00	EACH	\$2,000.00	\$8,000.00	\$1,495.00	\$5,980.00	\$1,300.00	\$5,200.00
43	67100100	MOBILIZATION	1.00	L SUM	\$67,477.77	\$67,477.77	\$56,751.97	\$56,751.97	\$47,000.00	\$47,000.00
44	70300100	SHORT TERM PAVEMENT MARKING	11,536.00	FOOT	\$1.00	\$11,536.00	\$0.79	\$9,113.44	\$0.01	\$115.36
45	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	425.20	SQ FT	\$1.00	\$425.20	\$1.00	\$425.20	\$0.01	\$4.25
46	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	18,341.00	FOOT	\$0.25	\$4,585.25	\$0.25	\$4,585.25	\$0.01	\$183.41
47	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	14,114.00	FOOT	\$0.25	\$3,528.50	\$0.30	\$4,234.20	\$0.01	\$141.14
48	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,807.00	FOOT	\$0.25	\$451.75	\$0.53	\$957.71	\$0.01	\$18.07
49	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	2,072.00	FOOT	\$1.00	\$2,072.00	\$1.00	\$2,072.00	\$0.01	\$20.72
50	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	100.00	FOOT	\$2.50	\$250.00	\$2.10	\$210.00	\$0.01	\$1.00
51	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	14,893.00	FOOT	\$1.20	\$17,871.60	\$1.00	\$14,893.00	\$0.01	\$148.93

Bid Tabulation

Project: Grass Lake Road Resurfacing

Section: 15-00075-13-RS

Description: IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	50.00	FOOT	\$3.00	\$150.00	\$1.00	\$50.00	\$1.00	\$50.00
53	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	50.00	FOOT	\$3.00	\$150.00	\$1.25	\$62.50	\$1.25	\$62.50
54	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	30.00	FOOT	\$5.00	\$150.00	\$4.00	\$120.00	\$4.00	\$120.00
55	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	25.00	FOOT	\$16.00	\$400.00	\$14.20	\$355.00	\$14.20	\$355.00
56	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	96.00	FOOT	\$18.00	\$1,728.00	\$18.70	\$1,795.20	\$18.70	\$1,795.20
57	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	26.00	FOOT	\$19.00	\$494.00	\$21.10	\$548.60	\$21.10	\$548.60
58	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	28.00	FOOT	\$25.00	\$700.00	\$27.40	\$767.20	\$27.40	\$767.20
59	81400100	HANDHOLE	1.00	EACH	\$1,250.00	\$1,250.00	\$1,490.00	\$1,490.00	\$1,490.00	\$1,490.00
60	81702110	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10	455.00	FOOT	\$1.00	\$455.00	\$0.90	\$409.50	\$0.90	\$409.50
61	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.00	EACH	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00
62	87300925	ELECTRIC CABLE IN CONDUIT, TRACER, NO. 14 1C	624.00	FOOT	\$1.00	\$624.00	\$0.60	\$374.40	\$0.60	\$374.40
63	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,400.00	FOOT	\$1.25	\$1,750.00	\$1.00	\$1,400.00	\$1.00	\$1,400.00

Bid Tabulation

Project: Grass Lake Road Resurfacing

Section: 15-00075-13-RS

Description: IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A

									Peter Baker & Son	
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Company Unit Price	Extnd. Price
64	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,272.00	FOOT	\$1.40	\$1,780.80	\$1.10	\$1,399.20	\$1.10	\$1,399.20
65	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	203.00	FOOT	\$1.50	\$304.50	\$1.30	\$263.90	\$1.30	\$263.90
66	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	849.00	FOOT	\$1.75	\$1,485.75	\$1.40	\$1,188.60	\$1.40	\$1,188.60
67	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	281.00	FOOT	\$1.25	\$351.25	\$1.30	\$365.30	\$1.30	\$365.30
68	87502440	TRAFFIC SIGNAL POST, GALVANIZED STEEL 10 FT.	2.00	EACH	\$600.00	\$1,200.00	\$928.00	\$1,856.00	\$928.00	\$1,856.00
69	87502500	TRAFFIC SIGNAL POST, GALVANIZED STEEL 16 FT.	4.00	EACH	\$900.00	\$3,600.00	\$1,044.00	\$4,176.00	\$1,044.00	\$4,176.00
70	87800100	CONCRETE FOUNDATION, TYPE A	24.00	FOOT	\$180.00	\$4,320.00	\$190.00	\$4,560.00	\$186.30	\$4,471.20
71	87900200	DRILL EXISTING HANDHOLE	2.00	EACH	\$100.00	\$200.00	\$257.00	\$514.00	\$257.00	\$514.00
72		PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.00	EACH	\$1,250.00	\$10,000.00	\$708.00	\$5,664.00	\$708.00	\$5,664.00
73	88800100	PEDESTRIAN PUSH-BUTTON	8.00	EACH	\$1,200.00	\$9,600.00	\$298.00	\$2,384.00	\$298.00	\$2,384.00
74	89000100	TEMPORARY TRAFFIC SIGNAL INSTALLATION	1.00	EACH	\$60,000.00	\$60,000.00	\$24,750.00	\$24,750.00	\$24,750.00	\$24,750.00
75	89500100	RELOCATE EXISTING SIGNAL HEAD	4.00	EACH	\$600.00	\$2,400.00	\$523.00	\$2,092.00	\$523.00	\$2,092.00
76	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	4,820.00	FOOT	\$0.50	\$2,410.00	\$0.50	\$2,410.00	\$0.50	\$2,410.00

Bid Tabulation

Project: Grass Lake Road Resurfacing

Section: 15-00075-13-RS

Description: IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A

									Peter Baker & Son	
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
77	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	637.00	FOOT	\$0.90	\$573.30	\$1.20	\$764.40	\$1.20	\$764.40
78	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.00	EACH	\$500.00	\$500.00	\$800.00	\$800.00	\$800.00	\$800.00
79	89502380	REMOVE EXISTING HANDHOLE	1.00	EACH	\$400.00	\$400.00	\$400.00	\$400.00	\$400.00	\$400.00
80	LC200051	REJECTED LOAD TRANSPORTATION	5.00	LOAD	\$500.00	\$2,500.00	\$200.00	\$1,000.00	\$110.00	\$550.00
81	LC200052	EXCAVATING EXISTING SHOULDER	96.00	UNIT	\$350.00	\$33,600.00	\$56.01	\$5,376.96	\$232.25	\$22,296.00
82	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	6,404.00	UNIT	\$1.00	\$6,404.00	\$1.00	\$6,404.00	\$1.00	\$6,404.00
83	LC600200	INSTALL SURVEY MONUMENTS	7.00	EACH	\$1,500.00	\$10,500.00	\$1,200.00	\$8,400.00	\$650.00	\$4,550.00
84	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	425.20	SQ FT	\$10.00	\$4,252.00	\$5.75	\$2,444.90	\$5.75	\$2,444.90
85	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	18,341.00	FOOT	\$2.00	\$36,682.00	\$0.90	\$16,506.90	\$0.90	\$16,506.90
86	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	14,114.00	FOOT	\$3.00	\$42,342.00	\$1.10	\$15,525.40	\$1.10	\$15,525.40
87	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,969.00	FOOT	\$4.00	\$7,876.00	\$1.40	\$2,756.60	\$1.40	\$2,756.60
88	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	2,072.00	FOOT	\$5.00	\$10,360.00	\$2.80	\$5,801.60	\$2.80	\$5,801.60
89	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	100.00	FOOT	\$6.00	\$600.00	\$5.80	\$580.00	\$5.80	\$580.00
90	X0324599	ROD AND CLEAN EXISTING CONDUIT	732.00	FOOT	\$1.00	\$732.00	\$2.00	\$1,464.00	\$2.00	\$1,464.00

Bid Tabulation

 Project:
 Grass Lake Road Resurfacing

 Section:
 15-00075-13-RS

 Description:
 IL. Route 83 to Deep Lake Road

 CPMS Pin:
 B-01408A

									Peter Baker & Son	
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
91	X0327122	WIRELESS RADIO LINK (INSTALL ONLY)	1.00	EACH	\$5,000.00	\$5,000.00	\$3,100.00	\$3,100.00	\$3,100.00	\$3,100.00
92	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,114.00	SQ YD	\$8.00	\$16,912.00	\$5.15	\$10,887.10	\$8.10	\$17,123.40
93	X5427600	REMOVE AND RELOCATE END SECTIONS	1.00	EACH	\$500.00	\$500.00	\$497.60	\$497.60	\$725.00	\$725.00
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.00	CAL MO	\$3,000.00	\$15,000.00	\$1,150.00	\$5,750.00	\$1,000.00	\$5,000.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	L SUM	\$67,477.77	\$67,477.77	\$5,400.00	\$5,400.00	\$12,140.00	\$12,140.00
96	X8100105	CONDUIT SPLICE	4.00	EACH	\$125.00	\$500.00	\$252.00	\$1,008.00	\$252.00	\$1,008.00
97	XX000856	MAILBOX REMOVAL AND RELOCATION	5.00	EACH	\$200.00	\$1,000.00	\$142.00	\$710.00	\$100.00	\$500.00
98	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	14,893.00	FOOT	\$1.00	\$14,893.00	\$0.10	\$1,489.30	\$0.01	\$148.93
99	XX006343	SEEDING (COMPLETE)	394.00	SQ YD	\$8.00	\$3,152.00	\$7.75	\$3,053.50	\$5.55	\$2,186.70
100	XX006484	VIDEO/CONTROL POWER CABLE SPECIAL	228.00	FOOT	\$1.25	\$285.00	\$3.80	\$866.40	\$3.80	\$866.40
101	XX007017	TERMINATE FIBER IN CABINET	12.00	EACH	\$50.00	\$600.00	\$226.00	\$2,712.00	\$226.00	\$2,712.00
102	XX007952	TERMINAL SERVER	1.00	EACH	\$1,000.00	\$1,000.00	\$2,074.00	\$2,074.00	\$1,424.00	\$1,424.00
103	XX008392	OUTDOOR RATED NETWORK CABLE	90.00	FOOT	\$5.00	\$450.00	\$1.80	\$162.00	\$1.80	\$162.00
104	Z0019600	DUST CONTROL WATERING	50.00	UNIT	\$50.00	\$2,500.00	\$120.00	\$6,000.00	\$1.00	\$50.00
105	Z0033700	LONGITUDINAL JOINT SEALANT	9,512.00	FOOT	\$3.00	\$28,536.00	\$2.50	\$23,780.00	\$2.60	\$24,731.20
		Bid Total				\$1,504,194.20		\$1,042,107.00		\$1,011,681.70

	LakeCo Division of	Dunty Transportation							
Return	Bid Detai	ls							
	Project:	Grass Lake Road Resurfacing							
		15-00075-13-RS							
	CPMS Pin:	IL. Route 83 to Deep Lake Road B-01408A							
	Let Date:								
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	50.00	UNITS	\$50.00	\$2,500.00	\$30.00	\$30.00	\$30.00
2	20200100	EARTH EXCAVATION	2,214.00	CU YD	\$25.00	\$55,350.00	\$27.00	\$33.50	\$30.25
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4,166.00	SQ YD	\$3.00	\$12,498.00	\$1.25	\$1.30	\$1.28
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	3,088.00	SQ YD	\$4.00	\$12,352.00	\$4.00	\$4.00	\$4.00
5	25000210	SEEDING, CLASS 2A	0.63	ACRE	\$4,000.00	\$2,520.00	\$242.00	\$2,500.00	\$1,371.00
6	25000400	NITROGEN FERTILIZER NUTRIENT	57.00	POUND	\$3.00	\$171.00	\$1.00	\$1.05	\$1.03
7	25000600	POTASSIUM FERTILIZER NUTRIENT	57.00	POUND	\$3.00	\$171.00	\$1.00	\$1.05	\$1.03
8	25100105	MULCH, METHOD 1	1.26	ACRE	\$2,000.00	\$2 <i>,</i> 520.00	\$1,210.00	\$1,650.00	\$1,430.00
9	28000305	TEMPORARY DITCH CHECKS	39.00	EACH	\$150.00	\$5 <i>,</i> 850.00	\$10.50	\$110.00	\$60.25
10	28000400	PERIMETER EROSION BARRIER	946.00	FOOT	\$5.00	\$4,730.00	\$2.50	\$3.00	\$2.75
11	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	3,714.00	SQ YD	\$17.00	\$63,138.00	\$18.95	\$20.60	\$19.78
12	35101400	AGGREGATE BASE COURSE, TYPE B	43.00	TON	\$30.00	\$1,290.00	\$50.00	\$55.00	\$52.50
13	40600290	BITUMINOUS MATERIALS (TACK COAT)	20,126.00	LB	\$0.01	\$201.26	\$0.01	\$0.01	\$0.01

彩	LakeCo Division of	Dunty Transportation							
	Section:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min Pid Drico	Max. Bid Price	Aug. Rid Drico
14	-	LEVELING BINDER (HAND METHOD), N70	20.00	TON	\$500.00	\$10,000.00	\$66.00	\$785.00	\$425.50
15	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	1,007.00	TON	\$100.00	\$100,700.00	\$71.00	\$72.25	\$71.63
16	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,064.00	TON	\$80.00	\$165,120.00	\$58.70	\$61.00	\$59.85
17	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	3,032.00	TON	\$80.00	\$242,560.00	\$62.00	\$63.30	\$62.65
18	42001300	PROTECTIVE COAT	192.00	SQ YD	\$5.00	\$960.00	\$3.00	\$3.00	\$3.00
19	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,094.00	SQ FT	\$12.00	\$13,128.00	\$11.25	\$12.25	\$11.75
20	42400800	DETECTABLE WARNINGS	120.00	SQ FT	\$50.00	\$6,000.00	\$30.00	\$30.00	\$30.00
21	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	25,397.00	SQ YD	\$3.50	\$88,889.50	\$1.70	\$1.75	\$1.73
22	44000200	DRIVEWAY PAVEMENT REMOVAL	1,315.00	SQ YD	\$5.00	\$6,575.00	\$3.90	\$10.50	\$7.20
23	44000500	COMBINATION CURB AND GUTTER REMOVAL	256.00	FOOT	\$10.00	\$2,560.00	\$10.00	\$19.50	\$14.75

<u> N</u>	LakeCounty	
31	Division of Transportation	

Return Bid Details

Project:Grass Lake Road ResurfacingSection:15-00075-13-RSDescription:IL. Route 83 to Deep Lake Road

CPMS Pin: B-01408A Let Date: 4/18/2017

					Eng Estimate				
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
24	44000600	SIDEWALK REMOVAL	341.00	SQ FT	\$10.00	\$3,410.00	\$2.00	\$3.70	\$2.85
25	44201713	CLASS D PATCHES, TYPE I, 6 INCH	134.00	SQ YD	\$60.00	\$8,040.00	\$18.00	\$20.00	\$19.00
26	44201717	CLASS D PATCHES, TYPE II, 6 INCH	201.00	SQ YD	\$60.00	\$12,060.00	\$18.00	\$20.00	\$19.00
27	44201721	CLASS D PATCHES, TYPE III, 6 INCH	604.00	SQ YD	\$60.00	\$36,240.00	\$18.00	\$20.00	\$19.00
28	44201723	CLASS D PATCHES, TYPE IV, 6 INCH	403.00	SQ YD	\$60.00	\$24,180.00	\$18.00	\$20.00	\$19.00
29	44213200	SAW CUTS	3,206.00	FOOT	\$2.00	\$6,412.00	\$1.28	\$2.60	\$1.94
30	48101200	AGGREGATE SHOULDERS, TYPE B	415.00	TON	\$10.00	\$4,150.00	\$34.00	\$41.00	\$37.50
31	50105220	PIPE CULVERT REMOVAL	280.00	FOOT	\$10.00	\$2,800.00	\$13.10	\$15.50	\$14.30
32	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.00	EACH	\$1,000.00	\$2,000.00	\$945.00	\$1,485.00	\$1,215.00
33	54215547	METAL END SECTIONS 12"	4.00	EACH	\$250.00	\$1,000.00	\$350.00	\$365.00	\$357.50
34	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	202.00	FOOT	\$50.00	\$10,100.00	\$45.25	\$50.50	\$47.88
35	542C0217	PIPE CULVERTS, CLASS C, TYPE 1 12"	45.00	FOOT	\$50.00	\$2,250.00	\$57.00	\$64.50	\$60.75
36	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	2,864.00	FOOT	\$10.00	\$28,640.00	\$2.90	\$4.20	\$3.55
37	60100905	PIPE DRAINS 4"	100.00	FOOT	\$5.00	\$500.00	\$32.20	\$55.00	\$43.60
38	60100915	PIPE DRAINS 6"	100.00	FOOT	\$5.00	\$500.00	\$34.40	\$59.00	\$46.70

業		Dunty Transportation							
Return	Section:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
39	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	256.00	FOOT	\$50.00	\$12,800.00	\$42.25	\$46.50	\$44.38
40	66900205	SPECIAL WASTE DISPOSAL	100.00	CU YD	\$100.00	\$10,000.00	\$57.00	\$76.50	\$66.75
41	66900450	SPECIAL WASTE PLANS AND REPORT	1.00	L SUM	\$1,000.00	\$1,000.00	\$2,200.00	\$2,530.00	\$2,365.00
42	66900530	SOIL DISPOSAL ANALYSIS	4.00	EACH	\$2,000.00	\$8,000.00	\$1,300.00	\$1,495.00	\$1,397.50
43	67100100	MOBILIZATION	1.00	L SUM	\$67,477.77	\$67,477.77	\$47,000.00	\$56,751.97	\$51,875.99
44	70300100	SHORT TERM PAVEMENT MARKING	11,536.00	FOOT	\$1.00	\$11,536.00	\$0.01	\$0.79	\$0.40
45	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	425.20	SQ FT	\$1.00	\$425.20	\$0.01	\$1.00	\$0.51
46	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	18,341.00	FOOT	\$0.25	\$4,585.25	\$0.01	\$0.25	\$0.13
47	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	14,114.00	FOOT	\$0.25	\$3,528.50	\$0.01	\$0.30	\$0.16
48	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,807.00	FOOT	\$0.25	\$451.75	\$0.01	\$0.53	\$0.27

業		Dunty Transportation							
	Section:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
49	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	2,072.00	FOOT	\$1.00	\$2,072.00	\$0.01	\$1.00	\$0.51
50	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	100.00	FOOT	\$2.50	\$250.00	\$0.01	\$2.10	\$1.06
51	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	14,893.00	FOOT	\$1.20	\$17,871.60	\$0.01	\$1.00	\$0.51
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	50.00	FOOT	\$3.00	\$150.00	\$1.00	\$1.00	\$1.00
53	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	50.00	FOOT	\$3.00	\$150.00	\$1.25	\$1.25	\$1.25
54	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	30.00	FOOT	\$5.00	\$150.00	\$4.00	\$4.00	\$4.00
55	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	25.00	FOOT	\$16.00	\$400.00	\$14.20	\$14.20	\$14.20
56	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	96.00	FOOT	\$18.00	\$1,728.00	\$18.70	\$18.70	\$18.70

貒	LakeC(Division of	Dunty Transportation							
	Section: Description: CPMS Pin:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
57	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	26.00	FOOT	\$19.00	\$494.00	\$21.10	\$21.10	\$21.10
58	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	28.00	FOOT	\$25.00	\$700.00	\$27.40	\$27.40	\$27.40
59	81400100	HANDHOLE	1.00	EACH	\$1,250.00	\$1,250.00	\$1,490.00	\$1,490.00	\$1,490.00
60	81702110	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10	455.00	FOOT	\$1.00	\$455.00	\$0.90	\$0.90	\$0.90
61	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL	1.00	EACH	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$1,600.00
62	87300925	ELECTRIC CABLE IN CONDUIT, TRACER, NO. 14 1C	624.00	FOOT	\$1.00	\$624.00	\$0.60	\$0.60	\$0.60
63	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,400.00	FOOT	\$1.25	\$1,750.00	\$1.00	\$1.00	\$1.00
64	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,272.00	FOOT	\$1.40	\$1,780.80	\$1.10	\$1.10	\$1.10

	LakeCo Division of	Dunty Transportation							
	Section:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
65	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	203.00	FOOT	\$1.50	\$304.50	\$1.30	\$1.30	\$1.30
66	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	849.00	FOOT	\$1.75	\$1,485.75	\$1.40	\$1.40	\$1.40
67	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	281.00	FOOT	\$1.25	\$351.25	\$1.30	\$1.30	\$1.30
68	87502440	TRAFFIC SIGNAL POST, GALVANIZED STEEL 10 FT.	2.00	EACH	\$600.00	\$1,200.00	\$928.00	\$928.00	\$928.00
69	87502500	TRAFFIC SIGNAL POST, GALVANIZED STEEL 16 FT.	4.00	EACH	\$900.00	\$3,600.00	\$1,044.00	\$1,044.00	\$1,044.00
70	87800100	CONCRETE FOUNDATION, TYPE A	24.00	FOOT	\$180.00	\$4,320.00	\$186.30	\$190.00	\$188.15
71	87900200	DRILL EXISTING HANDHOLE	2.00	EACH	\$100.00	\$200.00	\$257.00	\$257.00	\$257.00
72	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.00	EACH	\$1,250.00	\$10,000.00	\$708.00	\$708.00	\$708.00
73	88800100	PEDESTRIAN PUSH-BUTTON	8.00	EACH	\$1,200.00	\$9,600.00	\$298.00	\$298.00	\$298.00

	LakeCo Division of	Dunty Transportation							
	Bid Detai Project: Section: Description: CPMS Pin: Let Date:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min Bid Prico	Max. Bid Price	Avg. Bid Drico
item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extru: Price	win. Bid Price	IVIAX. DIG Price	Avg. Did Price
74	89000100	TEMPORARY TRAFFIC SIGNAL INSTALLATION	1.00	EACH	\$60,000.00	\$60,000.00	\$24,750.00	\$24,750.00	\$24,750.00
75	89500100	RELOCATE EXISTING SIGNAL HEAD	4.00	EACH	\$600.00	\$2,400.00	\$523.00	\$523.00	\$523.00
76	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	4,820.00	FOOT	\$0.50	\$2,410.00	\$0.50	\$0.50	\$0.50
77	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	637.00	FOOT	\$0.90	\$573.30	\$1.20	\$1.20	\$1.20
78	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.00	EACH	\$500.00	\$500.00	\$800.00	\$800.00	\$800.00
79	89502380	REMOVE EXISTING HANDHOLE	1.00	EACH	\$400.00	\$400.00	\$400.00	\$400.00	\$400.00
80	LC200051	REJECTED LOAD TRANSPORTATION	5.00	LOAD	\$500.00	\$2,500.00	\$110.00	\$200.00	\$155.00
81	LC200052	EXCAVATING EXISTING SHOULDER	96.00	UNIT	\$350.00	\$33,600.00	\$56.01	\$232.25	\$144.13
82	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	6,404.00	UNIT	\$1.00	\$6,404.00	\$1.00	\$1.00	\$1.00
83	LC600200	INSTALL SURVEY MONUMENTS	7.00	EACH	\$1,500.00	\$10,500.00	\$650.00	\$1,200.00	\$925.00
84	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	425.20	SQ FT	\$10.00	\$4,252.00	\$5.75	\$5.75	\$5.75

業	LakeCo Division of	Dunty Transportation							
Return	Section: Description: CPMS Pin:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
85	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	18,341.00	FOOT	\$2.00	\$36,682.00	\$0.90	\$0.90	\$0.90
86	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	14,114.00	FOOT	\$3.00	\$42,342.00	\$1.10	\$1.10	\$1.10
87	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,969.00	FOOT	\$4.00	\$7,876.00	\$1.40	\$1.40	\$1.40
88	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	2,072.00	FOOT	\$5.00	\$10,360.00	\$2.80	\$2.80	\$2.80
89	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	100.00	FOOT	\$6.00	\$600.00	\$5.80	\$5.80	\$5.80
90	X0324599	ROD AND CLEAN EXISTING CONDUIT	732.00	FOOT	\$1.00	\$732.00	\$2.00	\$2.00	\$2.00
91	X0327122	WIRELESS RADIO LINK (INSTALL ONLY)	1.00	EACH	\$5,000.00	\$5,000.00	\$3,100.00	\$3,100.00	\$3,100.00
92	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,114.00	SQ YD	\$8.00	\$16,912.00	\$5.15	\$8.10	\$6.63
93	X5427600	REMOVE AND RELOCATE END SECTIONS	1.00	EACH	\$500.00	\$500.00	\$497.60	\$725.00	\$611.30

業	LakeCo	Dunty Transportation							
	Section:	Grass Lake Road Resurfacing 15-00075-13-RS IL. Route 83 to Deep Lake Road B-01408A							
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.00	CAL MO	\$3,000.00	\$15,000.00	\$1,000.00	\$1,150.00	\$1,075.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	L SUM	\$67,477.77	\$67,477.77	\$5,400.00	\$12,140.00	\$8,770.00
96	X8100105	CONDUIT SPLICE	4.00	EACH	\$125.00	\$500.00	\$252.00	\$252.00	\$252.00
97	XX000856	MAILBOX REMOVAL AND RELOCATION	5.00	EACH	\$200.00	\$1,000.00	\$100.00	\$142.00	\$121.00
98	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	14,893.00	FOOT	\$1.00	\$14,893.00	\$0.01	\$0.10	\$0.06
99	XX006343	SEEDING (COMPLETE)	394.00	SQ YD	\$8.00	\$3,152.00	\$5.55	\$7.75	\$6.65
100	XX006484	VIDEO/CONTROL POWER CABLE SPECIAL	228.00	FOOT	\$1.25	\$285.00	\$3.80	\$3.80	\$3.80
101	XX007017	TERMINATE FIBER IN CABINET	12.00	EACH	\$50.00	\$600.00	\$226.00	\$226.00	\$226.00
102	XX007952	TERMINAL SERVER	1.00	EACH	\$1,000.00	\$1,000.00	\$1,424.00	\$2,074.00	\$1,749.00
103	XX008392	OUTDOOR RATED NETWORK CABLE	90.00	FOOT	\$5.00	\$450.00	\$1.80	\$1.80	\$1.80
104	Z0019600	DUST CONTROL WATERING	50.00	UNIT	\$50.00	\$2,500.00	\$1.00	\$120.00	\$60.50
105	Z0033700	LONGITUDINAL JOINT SEALANT	9,512.00	FOOT	\$3.00	\$28,536.00	\$2.50	\$2.60	\$2.55
		Bid Total				\$1,504,194.20			